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(A)10791 kN/fm? (B) 100 KNAw

The raiio ef maximum shear stregs to average shear Stress is 4/3 in a beam of
LA circular CTOSS-SCCtiOn B) rectangular CI:OSS-SCCUOH
(D) diamond section

«CY" 1riangular cross<sectior

B um%mmwmwm
S3EEAR I ‘

(4) IR ST TiedE (B) FEATHR e Tiese

(C) THSTERT ST uitese (D) RITeC

If Poisson’s TatioVis,0.4, then the ratio of shearmo@ullls of elasticity to
modulus of elasticity is  "» _

afe @l 3 0.4 &, 1 Searear a7 F T AT 2 —
A) 57 AB) U5 5/14 5/12

A solid circular/shaft is subjected to pure torsion,he ratio of maximum
shear stress to normal stress at any point would be

Ma)‘(ylear stre§¢§-@§{eg@yof failure was postulz
(A)”St. Venant (B) Rankine NC

(A) g=fae  (B) W= _
A bar of copper & steel form a composite system. They are heated to &
temperature of 40 degree.C, the type of stress induced in copper bar is

(A) tensile _ (B)-"compressive (C)- shear (D)" None.of these

FI O T B B § HI A 84 3% 40 Roft Cepome o T few w5
2 | B o8 § A gfaae $1 TR - _

A @ @) TR ) smem, (D) IR

The watelf_Ith]f:Iin the d p(ﬁi of %ndhg@nﬁe?ﬂﬂd&g'% Eepﬁhz of 3 meter
pelow the surface. Above the Water table sand is saturated by capillan
water. The bulk density of sand i$ 19.620 kN/m3 What will be the effectit 2
pressure at 8 meter below the surface ? ‘ |

G0 s sy A P SN0 T w3 1 3 o ) el L
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19.620 kN/m® 2 | 978 3 H19 8 0 T e ‘e B, e
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(A) 1:1 “B)arl 2 D) 2:3 g

and e
A Bl e e,

T PP PER R

; " Eode No T CROEON Nevies B,



10,

11.

Code No. : C-704/2021/Series-B "=

o — s av g A,

A wmply supported beam A of length L carries a central point load w.
Anather beam is load with u.d.1. such that tota] load on beam is W. The ratio
of maximum deflection between beams A & B js

L w6 A FR O YR W oagy s @ & | o fim o
frafa Mg R A R P M T s w | i A 3t B & =
sTitrena faga 1 1T @ -

(A) 5/8 (B) 8/5 C) 5/4 (D) 4/5

A simply supported beam of span L and. flexural rigidity EI; carries a unit
point load at its centre. The strain energy in the beam due to bending is

L foregfa aii E1 st ggan Y W, 3% 9 # 378 frg WR T8
FLIE R | T F S0 o A m e
(A) L"3/48El  (B) L"3/192EI (C) L73/96EI (D) L~3/16EI

A block of stone or concrete provided under the end 6f tie'heam to spread
the load from the roof over a large area of bearing is'calledy; -

(A) gable (B) hip (C) verge (D) template
Terafin & gea i o @ wr Rrem R e o S 1R % A9 ved TR v
HehIc 1 GUS FHgeTdT & — =3 >

(A) ® @ oW (D) ¥

The process of filling up aliénail holés, cracks etc with putty is called
(A) knotting  (B)pgrifiing. ©~  (C) stopping (D) finishing
TE & wft < Tesgl il it Y e <6y sran et 2 —

(A) T “(B) Wi (C) wiftm (D) Hffm

A course of s‘ton‘é provided immediately below a cornice is called
(A) blocking course

(B) coping
(C) frieze (D) parapet
SHTTd o ek el JE Te T T ety & —
(A) RETEE (B) Hifm (C) % (D) ¥
A ratio of the focal length of objective to that of an eye piece of telescope is
called as
(A) definition  (B) brightnes: f(j) sensitivity (D) magnification
eefteep 61 AR & AT ) ey kyeaé 1 ST T R L
(A) vl B) g b gmigar (D) sy
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14.

15.

16.

The pressure of fluid dug (g hammer blow 18

(A) Directly proportional to gepity of fluid:

(B) Inversely proportiona] ¢ density of fluid. ,
(C) Directly proportional tq square root of density of ﬂulq.
(D) Inversely proportiona 1o square root of density of fluid.
g4 FTHT & BT T e —

(A) T e & AT By g |

(B) @ ¢ BT |

(C) oA 97cd % FoTaT g 2 |
(D) TS e % T % o) 8 € |

A welded steel plate girder consisting of two flange plates of 350 mm x
16 mm and a web plate of 1000 mm x 6 mm requires :

{A) no stiffeners (B) vertical stiffeners

(C) intermediate vertical stiffener (D) vertical and horizontal stiffeners

350 mm x 16 mm ¥ Q1 Fefe =¥t 3R 1000 mm x 6 mm Y Th IF T §

afesd Wiel e TS H savas g - <
(A) B GHHT T (B) et ggill
(C) HeIad SHEATR g (DY i 3k &S gewr

A reinforced cantilever beam of span 4 m has a cross-section of 130 x
150 mm. If checked for lateral stability and deflection, the beam will

(A) fail in deflection only. e
(B) fail in stability only. B
(C) fail in both deflection and lateral stability.

(D) satisfy the requirements of deflection and lateral stability.

4m $t yaferd Td 9 F 150 x 150 mm FT Y FE B | Tie I
wnfae 3R fydiy & forg Ste 6t <l €, @ dfm -

(A) et fadu & fower gift |

(B) Faet v # fawet &1 |

(C) a8 3k wrvdl worrfress # et &l |

(D) Tadi aft gred wenfirca 1 FTREFATH B Hye wE R |

Alkaline soils are reclaimed by

(A) leaching :

(B) addition of gypsum to soil !

(C) providing good drainage

(D) addition of gypsum to soil nd leaching

KRR - Gitvie o

(A) femem g S B) e R e

(©) =t a-FpE T - (D) i Ryegw R SR XEER AT
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Code No. : C-704/2021/Series-B

% ioose uniform sand with rounded graing hag effective grain size of 0.05
cr. Co-efficient of permeability of the sand ig

T il aTeft STeea Thard™ & 1 ST oy 31 0,05 cm 2 | 81 &7
TR TR B —

(4) 025cm/sec (B) 0.5em/sec (C) lem/sec (D) 1.25 cmi/sec

Which of the following units is employed for the removal of particulate
matter above 1 micron(um) in size ?

(A) Fabric filters (B) Cyclone

(C) Electrostatic precipitator (D) Gravity settling chamber

gagrt%lgum (pm) & =3 fofer 527 1 gem & Ry fore 1 @ e s &1
?

(A) Ffsres fheex (B) wmEgetH

(C) Trgredfoes sradfm (D) T Fefdim Smn

Which of the following defect appears due to presence of alkalies in the
bricks ?

(A) Bloating . (B) Black’core (C) Cracks (D)‘/Eﬁlorescence
<2t H & Y Iufefe % e P 8 @ 9 W1 2 e B 7

(A) FEH (B) F™IHE  (C) &N (D) oo

If the least lateral dimension of aggregate is less than 0.6 times of its mean
dimension, the aggregate is classified as

(A) Angular (B) Flaky (C) Irregular (D) Rounded

H%ﬁaﬁﬁaa%%mﬁmﬁmﬂo.émm%,ﬁwﬁm
fFm s g~

(A) wfig (B) Yobedt (C) @ (D) TR

The void ratio of a soil sample is given by 0.58. What is the porosity of soil
sample ?

e deet =Bt RIRT S 0.58 & e v 3 | g vve 9 wwvren et 2
(A) 0.157 (B) 0367 (C) 0.524 (D) 0.602

The hydraulic radius and cross-seétion£1 area of a channel is given by 4.5 my
and 18.5 sq.m respectively. What is the wetted perimeter (m) of channe]

it 1 5T B o s -se AR T 4.5 m 3R 18,5«
gﬁnm% | aTfeehT = Rt e () e 2 7 e
(A) 4.11 (B) 105 (€) 185 (D) 83.3

———— 3 e e e ey
T g —— T e e,
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27.

- a design speed of 72 km/h for

Caleulate the safe stoppi i f
e Ping s; tance 106 & F¥=0o iver i
two way traffic on a singlg ls;;x%}eltrg;% he reaction time of driver is 2.0 sec,

(assume = 0.4 and g = 1 m/s2) = e 3 R
Tehd] oIz HEh T / RIS glidrm
iﬁmgmqyaﬁw@m%a‘mnmﬁmzom% | (= 0.4 3
g=10m/s 1)

(A) 180.00 (B) 13623  (C) 16442

A column splice is used to increase
(A) length of the column,

(C) cross-sectional area of the column.(D) None of these
e g 3 R Tt Rer—gifey sy v fopen STl @ 7

(A) T h T (B) WP

(C) T 1 I -1 & (D) T & IS TE

(B) strength of the column.

In case of a simply supported rectangular beam of span L and loaded with a

central load W, the length of elasto-plastic zone of t_he plasti;ﬂl;i[ng[ is "

L freqfr 3R = 9R W g Wi ggiemam STEdHR fafa =,
IR e & Ty W & o o @ —

(A) L2 (B) L/3 (C) L/4 (D) L/5

If water table is comparatively high, the irrigzlttion canal becomes useless,
dueto -

(A) Large amount of seepage ' Ty

(B) Water logging of the cultivated areas
(C) Uncertain water demand

(D) All of these |
R i ST qeTe € 9 I 8, A T8 Frwr R e IR 8 I @ -

(A) Toam &t ggg wmE (B) F= &3 w1 JowEd
(C) =affyga wer win (D) 7w

To hold hydraulic jumps, baffle Walls are provided in

(A) Sarda type falls ! (B) English type falls
(CY Montague type falls .. (D) Vertical type falls
(A) TRET TR v 8 £ (B)Y el seR wura N
(C) Wi Yo s o (D) S TR SeE
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30.

31.

32.

33.

ey

Tie intensity of irrigation means

(A) Percentage of culturable commanded area to be irrigated annually.

(3) Percentage of gross commanded area to be irrigated annually.

(C) Percentage of the mean of culturable commanded area and the gross
commanded area to be irrigated annually,

(D) Total depth of water supplied by the number of watering.
e fidamw g g~

(A} T =g & Rifaq feu 9 919 1 994 83 %1 yfiwa
(B} arffes = 4 Rifara fpu o aTel 9% 84 8 =7 yhiwd
(C) =iies & & fiifia Reu ST 911 F1 550 87 3R goer =7 8F % TTeT HI

(D) 31 STerad g Tgfea et hl Hel Tas

Retrogression of the bed level of a river downstream a weir, occurs due to

(A) Less percentage of silt (B) Increase of the bed level
(C) Heavy impact of water (D) Soft soil strata

R & SFATE 7] o el T H TIHA 6 HIT F

(A) g %1 HH Tl (B) @ &R Hgfg

(C) & &1 9Tl geee , (D) ¥ g1 &R

In a canal syphon, the flow is

(A) Pipe flow (B) Under atmospheric pressure
(C) With critical velocity (D) Under negative pressure
TE AITHA H, JETE BT ] ~ | & b

(A) [IEH JETE (B) IAUSTH T

(C) f=rer a1 % ™ (D) FRUTCTH e & AL

Soil is derived from Latin word

(A) Sonum (B) Soila . (C) Solia (D) None of these
g Al Iy R

A o
(A) HFH (B) wigen C) @fta (D) FHAPE A

Hardness of drinking water is recommended as

e ) T BT & — |
(A) 75-115 mg/litre (B) 45-75 mg/litre
(C) 0-45 mg/litre a)% 115-145 mg/litre

Application of fertilizer along with irrigition water is called
(A) Fetniatlon B) Notching (C) Pruning (D) None of these
T ST T

(A) F _I_é . —-4--(E)~—- @._ {03 S[ﬁﬂww _ (D IS

 Code No. ¢ €-704/2021/Series-B e BT T P s o
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37.

Nicking 1§ \
(A Making a noteh beloyw a bud by remCWiﬂB a wedge shaped picce of bark.

() Making a notch aboye g bud by removing & wedge shaped piece of bark.

(LA circular ring of bark measuring about 3 cm 1n length is removed.

( i}'{ Silection and complete removed of part of the plants.
HihT 8 ~

(A) TTE % Gl ST 3 v ) e TR S A1 A T |
(B) O & B m%gﬁmm#mqﬁml
(C) W3cm?ﬁﬁmzﬁm;ﬁ1mﬂﬂwmml

(D) 9l & 9 F A 3 qulg: w2

The main object of a preliminary survey i8 Ta mf

(A) to collect the necessary ph}sical information and details of topography,
drainage and soil properties.

(B) to estimate cost of alternative alignment.

(C) to finalise the best alignment.

(D) All of these

SRS e w1 qed 3w § - -

(A) mmmmm.m-mww*w%mﬁ

F1 EUR
(B) I=fys qigu i AFTE & HTHEA

(C) 398 wt@m &1 fAuig 5
(D) Twr®h

An Enoscope is used for measuring

gA_) Running speed (B) Time mean speed

(C) Spots (D) Overall speed

fa® a9a & fom sves = A e s R 2
(A) e la (B) FRARTR (C) Ryt (D) wwmaR

A unit hydrograph has

(A) one unit of peak discharge

(B) one unit of rainfall duration

(C) one unit of direct runoff

(D) one unit of the time bas¢'of dj

bt et s M S
(A) i fremn o s |

(B) sef s fm e

(C) T FER 6 TH R

(D) T FYAR % FHI FTUR B o yeprd

e . S, e e Yt b R ] O

-
A S g
L T,
\ e e St .

| Cote Na - Covod 03t Serfes-R
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Code No. : C-704/2021/Serles-B iy “““Td--_-s.- e

eter, Wall thicknegs material and internal

For the same internal diam ) .
x s, Induceq ip, 5 thin cylindrical and in a

; . e
pressure, the ratio of maXImum'lsltLe
thin epherical pressure vessel wi

T st s, S AT, T I AR g 3 forg e AFFTHR T
3 Afer sty Shwe S Ta MR S ary i Y srfreaw Fiqae

ST B
(A) 2 B) 12 © 4 (D) 1/4

Strain energy stored in a body due to external loading within elastic limit is

known as :
(A) malieability (B) ductillty (C) tougl.m.ess (D) resilience
e Ere 3 it aTed st 6 FRO e Rivg 1 wferg ffi gt heerd! & —

(A) FaEasddr (B) @l (C) =fwgm (D) wfafexfee

A 2 m high vertical earth retaining wall retains a dry granular backfill with

angle of internal friction of 30° and unit weight of 18 kN/m>. If the wall is
prevented from yielding (no movement), the total horizontal thrust (in kN

per unit length) on the wall is :

TF 2 m et Igu ger YRURE A 30° SR T Hior R 18 kN/mP
% HVHA T53 WE B G0 Heh R | AR o i wowed (IS T T8) ¥
U1 R, ST T e o (kN i geTd oS #) B -

(A) 18 (B) 20 (C) 25 (D) 10

A level instrument at a height of 1.500 m has been placed at a station having
a Reduced Level (RL) of 112,500 m. The instrument reads - 2.00 m on a
levelling staff held at the bottom of a bridge deck. The RL (in m) of the
bottom of the bridge deck is

T el I9HT 1.500 m H F=wd v 112,500 m F TG 76 (RL) I RIW
T TR R | 39 TN Gt I et qe R el T W — 2.00 m TSR |
PSS I % d¢ W RL (m #) & ~

(A) 116.00 (B) 113.00 (C) 109.00 (D) 112.00

When available water head is 60 to 150 m, suitable type of turbine is :
(A) Pelton wheel (B) Francis Turbine

(C) Kaplan Turbine (lﬁ) None of these

& Jeres e W 60 F 150 m &, Iuyme yew 1 TR R -

(A) TAHE  (B) WitwwEmT (¢) oW ERI(D) FRIN IS

S e Te————

b 7 T Ay . S . a3
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46.

in the absence of alternate source

As per 1S 10500:2012, for grinying water
[phtaes and chlorides in mg/L,

of water, the pe isqi
= mm s]ble .
respectively are limits for s

(A) 1000 and 400 (B) 400 and 1000

(C) 400 and 400 (D) 200 and 400

IS 10500:2012 % SR, o & depfes dva 1 Fredfa # T % foo
T 31 TS Y I iy g/ F A

(A) 1000 3T 400(B) 400 3fit 1000(C) 400 3t 400 (D) 200 3R 400

The initial concavity in the/load=penetration eUrve of a CBR test is due to

(A) Improper compaction | f(m Soﬁ top layer E
(C) Inclined plunger ! (D) All of these ‘
CBR &0 & -3 TG PRV & —

(A) feE ge (B (D) FEHA

ends is loaded by a

A circular bar AB Having length
i ance along the axis of

distributed torque of

bar and varies linear}§’ i, it _ end(A) and “q." at other
end (B).What will be‘the tor polar moment of inertia)

«L" FFaTs i T gEeR 98 AB, Be F G S AU
“q/5hTe W fRr i % T AT 5 R (A) R 8 G
R (B) T “qo” diewa & Teli &9 | @ ¢ | B W amel e & 7 (9 1,

#) L3 | B qu)/4 ) (@l @] @als

The intensity of dirfigation]fes ‘3# Kfvgzgs@sbhieqo%lfor an irrigation
project with culturable command area of 25000 hectares. The duty for the
Kharif season is 1000 hectare/cumec. Assuming transmission 10ss of 20%,
the er;t.jlulrezd discharge (in cumec, upto two decimal places) at the head of'the
canal is
2§ooo%a%ma;$waammﬁaﬁmm%fmwm%%’q
Rieré 1 i 40% & | &% Mo & forg g 1000 FRTREE T 0%
e wi AR g, TR ¥ T T T e (w3, 9 3R ) §

T Code Now s G003 Neries-B
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49.

S1.

Code No. : C-7042071/Series-B S -

v 7S ey wide two-lane road on @ Plam terrain ig to be laid along 2 honz.ont?l
“rve of radius 400 m. For a design SPeed of 100 kmph, super-elevation is
srovided as per IRC : 73 - Consider acCeleration que to gravity as 9-81m/s2.
Cne level difference between the 100€T and oyter edges of the road (in m, up
(o three decimal places) 1S

A 0s2sm (B) 0760m  (C) 0750m (D) None of these

500 m Trem % S o & 99 T 8§ 7.5 1) <y Q-wre TS

¥ 100 kmph feares e ¥ T TRAER [RC . 73 %wmmw
¥ e & e e 9.81m/s? AT | 69 F yreaies 3R aTEl HR F A
T 3= (m F, 917 e aw) -

(A) 0525m (B) 0760m  (C) 0750m (D) T A

The total rainfall in a catchment of area 1000 km? during a 5 h storm, is
'S em. The surface runoff due to this storm computed from triangular direct
runoff hydrograph is 1 x 10° m3. The ¢; ... for this storm (in cm/h, up to
one decimal place) s

ShaeE & 1000 km? % HTETE &5 3o 961 15 cm & | 36 THA & B
TR TN HYETE JeE gR1 IR HAE e | x 103 m R | 39 @E &
T &, 4oy (cm/h, T ST 7%) B -

\A) llemhr (B) 20cmhr (C) 1Scmmhr (D) 0.5 cmv/hr

Canals taken off from ice-fed perennial rivers, are known

(A} Perennial canals (B) Ridge canals

(C) Inundation canals (D) None of these

Em-ifia aweard afedl 3 oft 1wl waend 2

(A) TEAI TR (B) HHTW  (C) A@ETE (D) FHADE I

Soil having liquid limit of 65% & plasticity index of 50%, then plastic limit
of soil will be :

6525 2 HIHT 3R 50% YT gaEHis qrel 531 3, 951 H gugg @ S

{A) 15% (B) 50% (C) 115% (D) 65%

The length of a transition curve, is governed by
(A) Rate of change of radial acceleration

(B) Rate of change of super-elevation °

(C) Both(A)and (B)

(D) None of these

(A) B mwREERR (B) TGN S MR N

(C) (A) 3R (B)3H (D) FRIIRTE

e
i ot i



7,:% Whiiod Y (9 o " .
A3 Which one is metamorphic rock 9

(A1 Schist B) Lir ‘ ndstone (D) Granite

v oY Al ﬂz}m)% %“nestone (© S8 !

(A) fare B) T-geg (C) TR (D) TR
3. Flakiness index is % by weight of particles in it, where least dimension is

less than

(A) 3/5" of its mean dimensjon

(B) 2/5" of its mean dimension:

(C) 4/5" of its mean dimensiop,

(D) 7/8" of its mean dimension,

s 2 R 01 1 e e, o < e 9 R

(A) g e fam 1 35 (B) R ATEA fam T 2/5

(C) aeh a1 4/5 (D) waeh wneA fem 1 7/8
54, The relationship dp/dx = dz/dy is valid for

(A) Irrotational flow (B) Non-uniform flow

(C) Uniform flow (D) Unsteady flow

dp/dx = dz/dy TFY 58 e du & -
(A) FEfisE®  (B) Y%udH yam® (C) THeHH &R (D) R g

§5. At vena-contracta a jet has the minimum area of cross-section and so the
velocity of liquid jet on this section will be
(A) minimum  (B) maximum (C) average (D) zero
TF I2 I I GTEAT W A AT -HR 27 & 31 30 TR W BE T T 4
&1 37 Bh1l -
(A) =Fad (B) e (C) 3wa

56. A flow through long pipe at constant rate is called
(A) Steady uniform flow
(B) Steady non-uniform flow
(C) Unsteady uniform flow
g!{ Unsteady non-uniform flow
2R 5 U739 § JAT8

T A, e i

13 au m“(_:ode;\& 7&3&':&1 Neries-B

(A) ST CHEHH ST (B) WIR FHEHH TR
(C) Iyt THpaA™ JaT8 (D) Iy YHEAH TR

§7. The thickness of boundary layer at the leading (entrance) adge wili de:
(A) maximum (B) minim (C) =zero (D) averags
3 (5rw) o T e T R R
(A) sRpan B T O W@ D) 3E
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59.

60.

61.

62.

63.

o, : C-704/2021/Series-B 14

\s the depth of immersion of a vertical plane surface increase, the location
of centre of pressure _

(A) Comes closer to the centre of gravity of the area.

(B) Moves apart from the centre of gravity of the area.

() Ultimately coincides with the centre of gravity of the area.

(D) Remains unaffected.

o7 SHaE AR Y e TeUE 967 b 81 3 g i ffa
(A) T & % o g o GHIT AN I R |

(B) 38 &3 3 Toc Hg A G T I R |

(C) 38 &% % Tord 5 o 01 @9rdl &1 St & |

(D) ruTEd B2 |

If the duty of water for a crop of base period 120 days is 864 hec/cumec,
then the delta for the crop is

afg 120 &A1 $t AER m&ﬁﬁnﬁm%mmmﬁ (3g&1) 864 hec/cumec
2, A1 5Ed ¥ fu e 2 -

(A) 1200mm (B) 1600mm (C) 1000mm (D) 864 mm

What will be active earth pressure if bulk density is 18.0 kN/m’, angle of
internal friction ¢ =30° and height of embankment is 3.0 m ?

Tfra e @ Fa g afe ¥e 99 18.0 kN/m?, ATl =99 BT 6 = 30°
IR AT HITE30mR 7

(A) 18.0kN/m? (B) 54.0kN/m? (C) 6.0kN/m?> (D) 18.5 kN/m?
What will be horizontal thrust (in kN) if bulk density is 18.0 kN/m°, angle
of internal friction ¢ =30° and height of embankment is 3.0m ?

#fra wone (kN &) 71 &M IR @ wwe 18.0 kN/m’, i a9 B
6=30°3NaELH FTE3.0m g 7

(A) 27.0kN (B) 54.0kN (C) 60.0kN (D) I85kN
What will be passive earth pressure if bulk density is 18.0 kKN/m’, angle of
internal friction ¢ =30° and height of embankment is 3.0 m ?

fafsrr g g@ @ g A T 18.0 kKN/m?, Iaie wim =i
¢ =30° s aeau i 3918 3.0 n??

(A) 162.0kN/m? (B) 154.0 kN/m2 (C) 60.0kN/m® (D) 10.0 KN/'m?
Sheep-foot rollers are recommended for compacting :

(A) Cohesive soils (B) Granular

C) Both (A) and (B) (D) None of these.
%mmmm%mwg_i

(A) qETD 7al (B a;ﬁﬁﬂﬂ

(C) (A)3(B)TH O) FEAPE T

N ettt et st

Code No.: €
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66.

67.

70.

1 the co-efficient of actiye 1/3, then co-efficient of passive
earth pressure will be -
aie el ST TOTE 1/3 % oy fyfewa 9a1 &6 & -

(A) 173 B) 1 (g‘ 0.5 (D) 3

earth pressure 18

Maximum area of compression and tension reinforcement in beams as pr
IS 456 : 2000 in proportion to gross cross-sectional area is :

WW-WW%W 456 : 2000 % FTER €W 4 aftza vd
mgﬁmmﬁma}amt_ﬁls

(A) 4% (B) 2% (C) 6% (D) 2.5%

The declination of star is 20°N at a latitude of 40°N. The zenith distance at
the upper culmination is

40PN 3T W GR &1 fegpum 200N % | sreiveraa w Rrfg gl 8 -

(A) 20° (B) 40° (C) 60° (D) 30°

A reinforced concrete beam of span 4.0 m, has a cross-section of 150 mm x
500 mm. If checked for lateral stability, the beam will

(A) Fail in lateral stability (B) Pass in lateral stability

(C) Cannot sg (D) None of these

40m w gferafea s @7 7 150 mm x 500 mm &1 JATTE F1
2 afe vt i sita A et ], & i dnft -

(A) uifis el | fawa (B) -wif¥eis wnfea § %

(C) & T whd (D) ¥ & =g T

Which of the following sites will be applicable for a change point ?

(A) Back sight (B) Intermediate sight

(C)" Back and fore sight (D) All of these

fterda farg o forg e & 19 i wTee g weft 2
(A) TE®  (B) m=EE@ () W (D) T

For setting out right angles, the instrument used is

Exé)‘/gpb;ical square g) Alidade

) . a?teyﬁlgr‘]:léa%ugﬁ 3! ) None of these
(A) iRwa @aw (B) U3z
(C) ft ae | (D) =& | w7

For a linear, elastic, isotropi¢ material, the number of independent ¢lashe
constants is :

e, s, b e, T e i s & -

&) 3 (B) 4 © 1 OV 2



- ment distribution for a footing are shown in
1. The o e and settle n fo
[he contact pressur 5108

the figure. The figure correspo

— Fa

¢ '\W 3x

(A) rigid footing on gra‘rltllﬁr soil (B) rigid footing on cohesive soil

(C) flexible footing on saturated clay(D) None of these _
9 (footing) % fere werst g 3 FASeH foreon fir & qwrfy o & | o w2 -

-
-
» -

Rilg

(A) HUHE g1 R 3@ TG (B) HE g W 33 UIg
(C) WY 7 R T G (D) ¥4 & 13 &
72. Match List-I with List-II and select the correct answer using the code given
below the lists :
List - List - 11
a. Parapetwall 1. Constructed with dry stone masonry encased in

wire mesh.
b. Checkwall 2. To add the overall stability to the hill face.
c. Breastwall 3. To buttress the uphill slopes of the road cross-
section.
d. Gabion wall 4. To give protection to the motorists.
@-Iaﬁg-nﬁﬁmamwa;:n%ﬁq@mmmaﬁmgﬁq :
-1 . -1
a. MR 1 Ao e g T R @ R
b. g:@ § TRIE ST Y gequl TR e & farg
c. - - TS ARy - H Rt 36m 9 g 0 $ i
d MasmdEm 4. ﬁamﬁwmmﬁ%m

COde/?:

a b ¢ d
(A) 4 3 2 |
(B) 1 2 3 4
(C) 4 2 3 1
(D) 1 3 -2' 4%

N s i

Cods No. : C-704/2021/Series-B 1
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. Which one of the tbllowing tests of water/wastewater employs Erichrome

75.

76.

77.

78.

Biack T as an indicator 2

(A)Y" Hardness '

( _ oD

(C) Residual chlorine E[B))) l()io = -
ﬁﬁmm%? Pt 8 2 9wy g Qe S T 1

(A) FaREm (B) COD © safire @A (D) DO

Reduction in volume of soi] primarily due to squeezing out of water from
the vojds is called

(A) primary consolidation (B) plastic flow o
(C) creep (D) secondary consolidation
Peferet & et Frsde 3 oo serfires e @ g7 5 AT § P FEEA & -

(A) rifirh 96 (B) s warg (C) famdo (D) ﬁ?ﬂﬂ@fﬂ?

i

In which desalination process, solar energy is used ?

(A) Reverse osmosis (B) Freezing

(C) Electro-dialysis D) Solar evaporation
o Tcracfiem ufpn d, dhsef s amaar’ ?

(A) 3GHH TWE (B) A (€) fem-smdiEg (D) dRasH

In general, depth of plate girder is kept as of span.

(A) 1/5t01/8 (B) 1/8t01/10 (C) 1/10to 1/12 (D) 1/12to 1/15
|, Wie TR i Tas feafa Tt Tt R |

(A) 1/581/8 (B) 1/881/10 (C) 1/1081/12 (D) 1/12® 1/15

Phytometer is used to measure

(A) Evapotranspiration (B) Transpiration

(C) Evaporation (D) Filtration

fopads A9 & fore wrrenftex =1 v e ST R 7

(A) I~ (B) arsqtemsi

(C) (D) T

Gibb’s module is a type of

(é))/f{OP&mO%UI?T outlftt ([B)) semi-modular outlet
rigid modular outle

%m 18] ecieecion (D) open flume outlet

(A) Imrege fim  (B) a-niggeh frlw

(C) 7o diegen Frim (D) Regewm

7 Code N C0w 03 NeriesB



80.

81.

8S.

Crunnel is a part of

‘A) Muld board plough (B) Multile bottom
(C) Single bottom (D) None of these
A §9F 9 R -

(A) gezad@m (B) wwEIe aieR (C) fammatzs (D) Fﬁﬂﬁiﬂﬂ

Tatal number of Vidhan Sabha seats in Hamirpur district of H.P.
enram v & prp fae § FUE-T 7 f e ven

(A) 3 (B) 4 (C) § (D) 6
Spiti is a tributary of which river of HP, 7

(A) Satluj (Bﬁfhmb (C) Ravi (D) Beas
=ifa femram wew 6 e 7 s A h 0

(A) HaTA (B) faama (C) Tt (D) =™
Sangla Valley is also known as

A} Kiarda-doon Valley (B) Doon Valley

(C) Baspa Valley (D) Balh Valley

AT Q12 @ gAY -

(A) f@amz-za ot (B) @A

(C) e ard) (D) arer =i

Inderkilla mountain peak is located in which district of H.P. ?
(A) Mandi _ (B) Chamba (C)_Kangra (D) Kullu
szifeen wda 1) wn sfEmfmatfm?

(A) 798t (B) == (C) w3 (D) B

Pori fair is celebrated in which district of H.P. ?

(A) Sirmour (B) Solan (C) Kinnaur (D) Lahaul-Spin
o) 7d ferree e & e R g w2 2

(A) femin (B) ®em () f&=in (D) ==-=i

Lakshmi Narayan temple is located at which place in H.P. ?
(A) Baijnath  (B) Bharmour (C) Chamba (D) Pragpur

A 7f27 frem wew o fpm A W A R 7
(A) & (B) R (C) == (D) SRR
First Railway line of H.P. is
(A)“Kalka - Shimla (B) Pathankot - Jogindemnagar
(C) Na;gl-Una-Clm (D) Bhanupalli - Bilaspur - Bairi
femmae wew € TUH o TR R -
(A) Srer- e (B) GEF®R-FRTER
(C) ANTA-FAT-I0® (D) W'W'ﬁ

b ————— —————— T — —
———

Code No. : C-704/2021/Series-B 18
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135,

136.

137.

138.

139.

140.

i

Code No. : C-704/2021/Series-B 3

Which of the following can be considered as quick clay ?

A) Sensitivity =0 (g)"%ns§t§v1:ty "] "
() Sensitivity = 100 & ) Sensitivity = infinity
o= o @ fordt vfg&'a gftren1 A1 1 Feheh1 B 9

(A) gufem=0 (B) GEI=1 (C) gfdan=100 (D) G = 57

Settling velocity of inorganic particles less than 0.1 mm varies with the dia
(d) in proportion to :

0.1 mm @ B Wﬁﬁﬁw&ﬂﬁﬂﬁ%m}m)&;mmmﬁmg :
(A) d"2 (B) d"3 (C)d (D) dI/2

A prismatic bar with rectangular cross-section 20 mm x 40 mm,

length = 2.8 m i8 subjected to axial tension force of 70 kN. The measured

elongation of bar is 1.2 mm. What will be the tensile stresses ?

20 mm x 40 mm STIARRR AT HE, FETE = 2.8 m aTelt AAs v

%aqmmmmis efiw & | B¢ F wIfa deffecor 1.2 mm ® | 779 wfoee fea
:

(A) 875MPa (B) 90MPa (C) 70 MPa (D) 65 MPa

Nephlometer is used to find which parameter ?

(AY turbidity | (B) taste & odour

(C)” dissolved solid (Dyxhardness

S |1 IT=e 71 HA F e Igenfier wam R srar g 2

(A) sfesar (B) @iy (C) gemdm (D) w3

Alidade employs in :

(A) Contour survey (B) Plane table survey

(Cy~Both (A) and (B) (D) None of these
h[H ATl '8 -

(A) =T qagor (B) -2qc TRE

(C) (A) 3 (B) 3 (D) T & &Y

Permissible limit of free ammonia in water

ST | o S Y S e -

(A) 0.25 (B)70.15 (C) 0.10 (D) 030
Soil reaction is also called
(é) goi} w}f{nperamre * (B)_Soil fertility
(C) Soilp D) “All of these
e 78 M e & ‘

(A) AT (B) g

——— S T———————

(€) TWpH (D) &
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Ba.

49.

0.

91.

93.

which district of HUP, has higheg, lati density ?

: ation ‘
(A) Una . (B)  Kangry POP‘(-’C} Bilaspur .([))"’i:laml o
18 bl ‘I&‘-ﬂ & fG’H 13!‘3 ﬂ Iy . a 2

(A} S (B) Hbrg ) PR (D) T

Which district of H.P. has highesy nymber of Sub-tehsils ?

(A) Kangra (B)"Mandi (C) Shimla (D) Hamirpur !
Wm%mﬁﬁﬁm-wﬁwmt 7
(A) Hig (B) =ve (C) fawrett (D)

Dodra-Kwar revolt took place in which year ?
- fage fm o A gan ;
(A) 1906 AD. (B) 1912AD. (C) 1916 AD. (D) 1922 A.D.

The first Governor-General of India to visit India was

(A) Lord Rippon (B) Lord Lytton (C) Lord Curzon (D) Lord Amherst
w7 0 AT HW AT WA 6 T Tae Fe ° -

(A) dERA  (B) wEfm () @EFE (D) TS TIER

Founder of Keonthal princely state was

(A) Bir Sen (B) BirChand (C) Giri Sen (D) Dip Chand
FTe TE T & ST & -

(A) HiEA (B) =g (C) ffem (D) dUE=

Which is the executing agency of Malana —II Hydroelectric Project of H.P.?
(A) M/s. Everest Pvt, Ltd.

(B) M/s. Malana Power Corporation Ltd.

(C) M/s. Jai Laxmi Power Corporation Ltd.

(D) None of these

Pt 2w 36 W11 et i 1 SR e e W R 7

(A) . vate wgae .

(B) . e wiew famm fa.
() . v weh wfF fm fa.

(D) FH 3 =rd 7

Maharaja Agrasen University is located at which place in H.P.?
(A0 Head (B) Mandi C) Palampur (D) Baru Sahid®
“!'Immwwm%#kqmmmg ?

(A) =@ @® " () Wemg (D) TEF

e —— » e ——— l

T Code Na . ¢ 043031 Serices-B



a3,

9s.

96.

What is *Kee' in H.P. ?

A Monastery (B) Mountain Pass

() Glacier (D) Lake

fearaa yen 4 ‘Y (Kee)ﬂﬂ?

(A) 72 (B) wEaE (C) fewe (D) ¥

As per the recent notification from Department of Telecom, calls from
landline to mobile should be prefixed with which number, from January
2021 7

Zrgam fam ) AT FEE & TR A 2021 § SvgeTed § AT W
it § B ] TR & § T ?

(A) 0 (B) 7 (C) 8 (D) | 9

‘RE-INVEST 2020, an investing meet, which was in news recently, was
organised by which Union Ministry 7

(A) Ministry of Petroleum and Natural Gas

(B) Ministry of New and Renewable Energy

(C) Ministry of Housing and Urban Affairs

(D) Ministry of Corporate Affairs

‘RE-INVEST 2020’, & Paeh 3o & wrer & & wwram & 1, Reg #mer o
satfaa ot 7 , 2
(A) Tifrm v TR fa e (B) TR W TSR S0 S

(C) wmam ud el ame Hr i (D) i Al S S

The land-attack version of which missile was recently test-fired in the?
Andaman and Nicobar ?

(A) Brahmos  (B) Prithvi-Il1 (C) Agni-1Il (D) Dhanush
gﬂiﬂﬁrﬁm%mﬂqm@ﬁ oz iR PreEr 8 - S

AFE ) w () ¥R (D) @

R.N. Chibber, who recently passed away, was-associated with which field ”
; heid

(A) Sports (B) Defence (C )‘/l?:]itics (D) Ams

7. P, PO e 1.3 iy o, R 8§ R &

(A) %2 (B) mn © TR (D) ==
25:625::35:7 ;

@ 1575 BTS¢y s B ks

- MO RAAT IO . alan T T - - = - - =



108,

101.

102.

103.

104,

105.

[ the letters of the word "VERTICAL’ are arranged alphabetically, how
manv letters will remain at the same position ?

(A) One (B) a:'va;) (C) Three (D)/None of these
=fe 7 *VERTICAL' & 38 9 qutaren 3 mm@aﬁmmi,ﬁ
s g feufa w7

(A) (B) () & (D) wHaHE T

Next term in the following number series 8, 16, 28, 44, ? will be
=1 i AT H STl 98 B g 7

8, 16,28, 44,7
(A) 60 (B) 62 (C) 64 (D)

Praveen correctly remembers that his father’s birthday ismfter21 “%py but
before 27" May whereas his sister correctly remembers hat thigir father’s
birthday is after 24" May but before 30" May. On ﬂgghich @ in May was
their father’s birthday ? £ .7

- ﬁéﬂf Nane of these
i 1 el AT’ | A1 2 T 3ueh fan % e S 27 W F
7Eel 2 Fafh Iuh! T8 H Mmﬁ%t 5 e T 1 I 24 WE &
a2 A 30 7% % e & | A R T 35 vt o R @ 2
(A) 24 ® 21 (o2 (D) P AR

(A) 24% (B) 23¢ (C) 22y

N

Which Indus Valley/site ieahs Black Ba;y;,?
(A) ChanhuddrOy(B), Daimabad (CJ Banawali (D) None of these
g fig 7 et i ol hren T @ 7

m’%@?{?@ WB) gEmEE  (€) WA (D) FHIAREAE

y . %
- 7 » '

Kosala thahajanapada was located in which Indian State 2

(A) UP (B) Bihar (C) Gujarat (D) Rajasthan
FIAS FEATE g i femar ?

(A) 3Wgen  (B)” faEw (€) T (D) T=ER
Which Delhi sultan started the Iqta system ?

(A)“Titutmish (B) Alauddin Khilji

(C) Mohammad-bin Tughlaq (D) Tbrahim Lodhi

o Foreh et 3 e somvet SO 1 2

(A) Fgafast (B) Iegde Ryesh

(C) Rreme fam qer D) wmdwSQ |
P e ————— L I e g o £ U S . )



106 The founder of Bhakti movement In North India was

(A) Tukaram (B) Vallabhacharya
(C) Ramananda _ N (D)” Kabir
S v & WA g o qETT 9 —

A) @EE  (B) FENEE () R (D) ¥R

107. Which of the following introduced DDCtrin/eof Lapse ?

(A) Lord Canning (B)” Lord Hardinge
(C) Lord Ellenborough (D) Lord Dalhousie
form 52 T weu e SO A 7

(A) AR (B) SEERT () =i e (D) WS SR

108. Which plarfét has alfmost equal rotational period to that of the Earth ?
(A) Venus (B) Mars (C) Jupitr ' (D) Utanus
e 7@ 1 YRR BTeT ST TR AT R 7

@ @) () sgafs (D) T

109. Black Forest mountain range is located in
(A) Germany (B) USA (C)-South Africa (D) Singapore
T BRES TaanTen fm g —-

(A) A ®) @y i (C) R sk (D) R

110. Which isopleth indicates equal salinity ?
(A) Isonif (B) Isocline’  (C)“Tsohypse (D) Isohaline
@1t SRy W e gt Hd @ ?

(A) sTEERE  (B) wmdmemE (C) EREEE (D) EERETH

111. Outer Himalayas is also called

(A) Himadri (B) Himachal (C)‘/Sh_ii‘_faﬁk (D) Aravalli
arft Temmerm 97 oft e - '

(A) T (B) fammrem ©) s (D) e

112. In Tibet, Indus river is known as

(C) Mahi (D) None of these
ﬁﬁﬂﬁ.ﬁ%ﬁﬂmﬁmmi_
(A) fefie=a  (B) s (C) wrét (D) SRR wEE

o
e

s e vy ' OvY e o by S S . et S e B e et
Code No. : C-?W”Sﬁﬂﬂ—n : 21 11 \
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116.

117.

118.

119.

- - ——— .

aidapara Wildlife Sanctuary is jo.o.04 in which Indian state ?

(A) harpataka  (B) U‘cta:-al‘;}-lana;1 (C) M.P. (D) West Bengal
T A A R sy e R R 7 .

(A) FAILH (B) Iwmwz () AT (D) e wTe

On which date, the Indian Constitution was declared as passed ?
(A) 26 November, 1949 (B) 26 January, 1950
(C) 15 August, 1947 ) 15 August, 1950
o AT W AT AU iE S % Tt ?

(C) 15 30T, 1947 (D) 15 3w, 1950

. By which Constitutional Amendment Act, Sikkim became a full fledged

state of the Indian Union ?

(A) 24% (B) 32v (C) 36" (D) 42

o weTTes wvit i g Refew e we ey ot fereniRy T = 7
(A) 24af (B) 32daf (€) 36af (D) 424

National Emergency is imposed under which article of the Indian
Constitution ? .

(A) Article 343 (B) Article352 (C) Article 356 (D) Article 360
et GRTH 3 R S % HE TSI SraHTe el S g 7 |

(A) 3T=8e 343 (B) *8g352 (C) IR 356 (D) 3T=9g 360

Who is associated with Sarvodya plan ?

(A) M.N. Roy (B) S.N. Agarwal
(C) Jai Prakash Narayan (D) None of these
FaTed 991 @ HF gEfad 2 7

(A) T, G (B) TH.WH. 3ET
(C) SESERTS TR0 (D) 9 & HrE TE

The first 15 year vision document started from which year alongwith a ™
year National Development Agenda ?
7 28 T et & @Y oY A9 @ T 15 o R qee R
™ 7
(A) 2015-16 (B) 2016-17 (C) 2017-)8 (D) 2018-19

‘ L]
Pyrometer cannot measures temperafure below which temperature 7

TR R ATqeT & S AT FE AT W 7

(A) 100°c  (B) 500°C () 650°C (D) 800 °°C
j B T Code Na. : C-704 2021 Series B




120. Crook's glass contains

{A) Sodium calcium silicate (By-Taesium oxides
(C) Borate and alumina (D) None of these
% I

(A) wifean Hfeaam fafese (B) #ifom atfeamgs
() itz it Eahen (D) i & rf 7t

121. Which disease is also called as Lock jaw ?

(A) Tuberculosis (B) Typhoid  (C) Syphilis (D) Tetagus
e T 1 @At A1 (SIH-18) Mt F@ e 7

(A) M  (B) TWERE  (C) Rsfrm (D) few

122. Antonym of ‘Ostentatious’ is I
(A) Awkward (B) Bankrupt (C) Ignorant (D) Unpretentious |
123. One word substitution for ‘To send an unwanted person out of the country’ |
is | !
(A) Exclude (B) Ostracise  (C) Deport (D) Expatriate I

124. The exhibition was a cugjous _ of the old and the new.
(A) melange (B) fervour (C) mixture (D) blend

125. Meaning of the idiom “To bring one’s eggs to a bad market’ is
(A) To face a humiliating situation

(B) To bring one’s commodities to a market where there is no demand for
them

(C) To show one’s talents before audience which is incapable of |
appreciating them !

(D) To fail in one’s plans because one goes to the wrong people for help
126. ‘w0 ¥ dfy-fde g
(A) F1+3F®  (B) T: + = (C) B+ FT (D) W+ 3=

127. “==zenter & aume 3

(A) &6 (B) =gy (C) Teqes (D) =N
128, g1 I WEATES Ty §

(A) T (B) womEm (C) w&|w (D) T

129. *aTe &1 GAIGaTE &
(A) g (B) 3% (C) dasR (D) =

—— . . S,
. —
e —————

Code No.: C.704/2001/Serles B~ g T
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131.

132.

133.

e LT e N e 25 Code Na. : ¢4

ot walering 1S

(A watering 1o crop when erop s few centimeter high.
() Watering 10 Crop anytime when ¢rop is few centimeter high.
‘1 First watering to land

Dy All of these

FN AT R

(A) Wﬁmwmmwmﬁﬂl

(B) mﬁmmmmmmwmﬁﬁ'
(C) gft =+ 5w JergA |

(D) TBadfl

When deposit of efflorescence is more than 10% but less than 50% of
exposed area of brick, the presence of efflorgscence is classified as :

(A) shght (B) moderate  (C)” heavy (D) serious

73 segeer &1 a2 % st & % 10% & s BB $0% A F1 g
2, 71 Iegpeea i Jufeafa #) gaa arfiga foma aman @ -

(A) 3T (B) "= () vt - (D) i

Horizontal curves on highways are provided

(A) to break the monotony of driving.

(B) 1o discourage the tendency to increase speed.
(C) to decrease the mental strain on drivers.
(Dy Al of these

Tt w A am v fg wm &

(A) TR FEa A Efw  (B) T EgR f gl aes $

(0) mmmmmmﬁ#m(m T ovfh

A
-

When the bituminous surfacing is done on already existing black top road ot
over existing cement concrete road, the type of treatment given is
{A.)“'TaCk coat (B) Prime coal (C) Seal coat (D) Nonc of these

T R from e A es F AT @i Wi v W Re

mﬁmmmt,a‘rﬁqmmmmt-
(A) JTHAS T (B) TR RS
(C) HHzo s (D) i { ¥l

e
- LY N
— I —— i

S0 Neries B



134,
C:i A) Sensitivity =0 (B)"géngi[jvi[y = |

135.

136.

137.

138.

139.

140.

Code No. : C-704/2021/Series-B —~=

Which of the following can be considered as quick clay ?

() Sensitivity = 100 D) Sensitivity = infinity
fmﬁafxad%mqﬁmwmm%?
(A) gmfer=0 (B) GAMA=1 (C) gafem =100 (D) FHEA = 7=

Settling velocity of inorganic particles less than 0.1 mm varies with the dia
(d) in proportion to :

0.1 mmﬂﬁéﬂﬂiﬁﬁwﬁwﬁmhw}m)#mmmﬁma:
(A) d*2 (B) d"3 (C)d (D) d~2

A prismatic bar with rectangular cross-section 20 mm x 40 mm,

length = 2.8 m is ‘subjected to axial tension force of 70 kN. The measured

elongation of bar is 1.2 mm. What will be the tensile stresses ?

20 mm x 40 mm AR FTE FZ, T = 2.8 m arelt Bafes o3 Hefta

gﬂmmmmtmt | B #1 Ffta dreffeor 1.2 mm & | &= witvee feaa
"}

(A) 875MPa (B) 90MPa (C) 70 MPa (D) 65 MPa

Nephlometer is used to find which parameter ?

(AY turbidity (B) taste & odour

(C)” dissolved solid (D-hardness

1 | W 0 B & o Fgeinfer s e s g 2

(A) sfmm (B) way (C) gfmdm (DY w3k

Alidade employs in :

(A) Contour survey (B) Plane table survey

gC)"ﬁm.h (A)and (B (D) None of these
HH ATTR :

(A) T3 wEqT (B) @H-26F TE&

(C) (A) 3 (B) 3Rt (D) ¥ A =Y T

Permissible limit of free ammonia in water

e H A ST B S i & -

(A) 025 (B)”0.15 (C) 0.10 (D) 0.30
Soil reaction is also called

(2) goli]l w}?mm © (B) Soil fertility

(C) Soilp D) “All of these

g1 wfafa 7 ¥t weerd § - ®

(A) qarar = (B) ¥

e —— ——

(O Foll (D) Sxww

_—
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(41.

14Z.

143.

144,

145.

146.

y cantilever beam of length | » ] y aribted :

= s carry uniform distributed intensity of
g, W h:l_t W lll.hc the length of the pla;:;g :one when the maximum bending
moment (My) is equal to the plastic yyoment(Mp) ? (Assume My/Mp = )
(A) Y(a-1 (B) Y(f-1 (C) L(1 - Jf) (D) None of these
L wrTs <t ST S R fytor i g TR B R | R &
ﬁWﬁW@ﬁWMﬁm %ﬁmmqyf(hd)%m
ZR12 7 (My/Mp = farfw) ST (M), =

Self cleansing velocity normally adg design is %
pted for sewer design

sﬁm%mﬁ%mwm:maﬂ%- Y

(A) 0.5 m/s (B)” 0.8 m/s (C) 1mJs (D) 2m/s

A grit chamber, having higher detention period (about 3-4 times ) is called
(A) gritbasin  (B) detritus tank (C) vaccuator (D) grit channel
T Y AT (TR 3-4 77077) rer e S FHEend & -

A) irdfim  (B) wewigE (C) SWRH (D) fir <=

A singly-reinforced rectangular concrete beam of width 300 mm and
effective depth 400 mm is to be designed using M25 grade concrete and
Fe500 grade reinforcing steel. For the beam to be under-reinforced, the
maximum number of 16 mm diameter reinforcing bars that can be provided is

M25 3 Sz 3 FeS00 s yooW Wi &1 W&M FT 300 mm = 3R
400 mm SN TEUE I U THA-TE HEAHR whe §0 w1 e
faar 91 2 | 9 F m.yEted 89 % T, 16 mm =W % vEew Bl &
Sftrman we o) we I 1wl &, R -

(A) 2 (B) 4 © 5 (D) 7

Approximate ratio of strength of cement concrete of 7 days to that of 28
days is

7 et 3 i Fofie w1 e 1 28 T 3 e § e orme & -

(A) 0.56 (B) 0.85 (€)7033 (D) 1.0

Minimum quantity of cement concrete that is needed in 1 cubic meter of
reinforced concrete which is directly €xposed to weather is about

e ® & thaw § sowia | TR N el sehte ¥ fog srews SRR
Heh1e T pran w R -

(A) 200kg (B)"250 kg (C) 300kg (D) 350%g

ad, —
. — - P—
T — — - — — —— —— T 17 e ———
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147. For a storey height is equal to 1ength of R ¢ ¢ wayy the percentage increase

strength is : NN
fepeft ifret 3 fora, R.C.C. T 01 ST 3 arape drerrd 2, srrwrer e gfg 2 -
(A) 0 (B)-10 €) 20 (D) 30

148. A column has effective length L When its both ends are fixed, what will be
new effective length if one end becomes hinged ?

e Y et TS L @ T 56 2N R arreg & o &R &
?}qmmmwm? bk

(A) L (B) 05L (©)-141L (D) 2L
@- A constant head permeability test was run on sand sample 16 cm length and
60 cm? cros

s-sectional area. Porosity was 40% under a constant head of 30
cm, the discharge was found 45 cm? in 18 second. What will be the co-
efficient of permeability ?

16 cm THTE 3N 60 cm? IATEY-FIZ FI%et TeT st W R IS greTeTa
wmmmwmlsocm%%ﬁm%?me%eﬁ, 18 ¥Ug
5 FoReTeT 45 om IR T AT | STOTRr o Reaer @ 2

(A) 2.22 x 102 cm/sec (B) 1x 102 cm/sec

(C) 1.5x 102 cm/sec (D) 2.5 x 102 cm/sec

150. Anaerobic treatment is best suited for
(A) high efficiency

(B) toxic wastes
(C) dilute inorganic wastes

(D)"strong organic waste

SR 3T g6 Tore som S & -
(A) 3= gg@an (B) fammem srafdre
(C) o7 ariferer amafire (D) &« e mafe

151. Due to slipping of the wheels, the rails forms
(A) crushed head (B) battered ends

(C)—Spilt head (D) horizontal fissure

ofet % wdor % Hwor, Tef T R -
(A) Gefmdd  (B) Fgawfn () RaRed (D) e

152. If capillary rise of water in a {mm diameter tube is 3 ¢m, the height of
capillary rise of water in a 0.2 mm, diameter of tube in centimeter will he
1 mm 8 & I # I w1 HRET I IR 3om R, 02 mm sE
aferet § 91 1 BIREAIT IUW Aot § B
(A)-1.5 (B) 6 (C) 15

Code No. : C704/2021/Serles-B e
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154.

155.

156.

157.

158.

(A)Y"1/3

A fully saturated clay sample has d vol 50 cm?

- . 2l 5 mass 101.5 gram and volume 59 cm’, after
gven drying the clay has mass g4 g gram. Assume that the volume does not
change during drying. What will be ¢pe porosity ?

W-F'Im HT‘—" 4mﬂmﬁm1015msnzm500m3%,aﬁaﬂ

% 79T YAl # wnfy g *
SIW'#’ 1 ?;‘Hﬂm? 4.9 7 & | w6 A 6 R SR T

(A) 33.8% (B) 10% ©) 30% (D) 40%

in India, generally sewage produced is of the accounted water supplied
from water works. —

T 8, JHRE: 369 S e ad § s aiftga st T8 |
(Ay-T75% (B)~ 70% (C) 60% (D) 65%

Uniformity co-efficient for filtering media in rapid gravity filter should not
be less than : ‘

@WﬁWﬁmﬁM%mmWEﬁmqﬁmm-
(A) 1.15 (B) 1.05 (€)1.2 (D) 1.1

The quantity of ballast required per meter length for broad gauge track 1s
a2 i3 Teh % fero Wiy et e anavas Yo (fredt) HramT R -

(AY"1.036 cubic meter (B) 0.036 cubic meter
(C)~0.071 cubic meter (D) 0.053 cubic meter
The slope of sewer shall be %

(A)~given in the direction of natural slope of ground.

(B) given in the direction opposite to natural slope of ground.
(C) zero.

(D) steeper 1 in 20

=1 21 B -

(A) ot % rpferes arer 1 o # fedl §A1 |

(B) % srepers grer <h1 farafa o o 1 |

(C) ==

(D) 20% 1 Zfersraor

If the co-efficient of passive earth préssure is 3, then co-efficient of active
earth pressure will be
e fafSra gz zra ot 3 B, o 0RO BRT -

(B) 1 (Cy 05 (DY 3

e e e A e i

., D T Code Now 1 C-X04 2021 Neries B



189, As per IRC ¢ 17-2012, in order to conl.rol subgrade rutting in flexible
pavements the pnrmm:tcr Q bﬁ Cﬂﬂildcred 18
(A) vertical compressive strain on top of subgrade.
(3) vertical compressive stress on top of granular layer.
() vertical deflection at the surface of the pavement.

(D) Nane of these '
[RC 372012 ¥ 39K, T FREw & guie v w1 frew w0 & forg

160. [n a stream generally
(D) 0.3 of depth

(A) 0.45 of dep 350f de :

feeft wrr # wTTRE Bt R

(A) 045TETE | (B Jp.gsm %\ (D) 0.3 Tewd
161. Minimum size of ﬁHE‘l_‘_wldswheﬁ nickn ifeker part is 30 mm, will be

wa ey 6 wrerd 30 mm R, T o SEe T an v -

(A) 3mm ) Smm
162. Which signs are in shape of equilatefal triangle*with apex pointing upward ?
(A) regulatory signs T warning sign
(C) informatory sign . (D) Any of above
Eack: mmﬁﬁwmmmmﬂ Fpfad & ?
(A) frms fag (B) SmedfE (C) gEE R (D) IRmAa SRy

163. BOD.meank €t’'s do it together !
(A) Biochemical Oxygen Demand (B)VBiological Oxygen Demand
(C) Bacteriological Oxygen Demand(D) None of these
B.0.D. &1 a4 & .
(A) TRTHEES HaEi femiy (B) WSS Hdiedtaw Ruig
(C) wAfmETaesa sfefem gz (D) ¥ & &8 TE

164. Porosity of soil sample having iu{ void ratio equal to 0.5 would b

0.5 Tefa s e e Feet ot iy &Y -
Ar33% B so% (©) 66.6%

(DY 735%
Code No. : C-70472021/Series B~~~ et iyt
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167.

168.

169.

170.

Wwhen watertable is high, land gradiens is ste ei)Cl' and soil is easily erodible,

then he type of irrigation method syjtaple is '

(A) Check flooding (B) Basin flooding

(C) Sprinkler D) All of these

T vt e 3 B, Y e ( mwmama,mm
g 1 feerd ugia Sug 8 -

(A) Tnfl snerme (B)  B1vh sy () fRiweR (D) @t

What will be the angle of rotation at free end of cantilever having length “L”
with udl “q” acting on a distance “a” from the fixed end ? (where a<L)
;'L"aunéaﬂﬁ?ﬁaﬁsgaa@“@hmmﬁm, g w 3meg i
@ 2" gt W gHfaaRa WR g FREE & 7 (sEfa<L)

ga”3 ga™3 aa’3 ga™3
(A) “6E] (B) “gEp ©. 241 (D) g
Which type of ﬂOOdiﬁE is'adopted for orchards trees
(A) Wheat (B) Orchard tress (C) (D) All of these
(A) T (B) / welimHt g8 (C) (D) TEaH

Ideal shape of summit ctlfve is

(A) spiral (B) ‘parabolic (D) lemniscates
s -

I 9% FI
(D) wferahe

Limiting value of cant gradient for all gauges"
(A) 1in1000 (B) 1in720 (C) 1in1500 (D) 1in 100

asft it & fore amEdtedT AT 1 HH A R -
(A) 100081 (B) 720% 1 (C) 1500%1 (D) 100% 1

Standard project floodis . | o it.toget E _
(A)ysmaller than probable maximum flood. = ~

(B)the same as the probable maximum flood.

(C) same as design flood.

(D) larger than the probable max flood by a factor implying safety factor.
AT YR e

(A) WRITEY Jftrpan ST & A R |

(B) S¥Tsy Fftvea STl % GHF BT R |

(C) sfipeq FTeTa % SR | '

(D) wrey srftresan ATera & U & T | g e g

B e e B
el g o st Ao S8 A b S iy £y S —— "

M Code N G NN Nerker B



